A General Recurrence Interpolation Formula and Its Applications to Multivariate Interpolation

M. GASCA AND A. LÓPEZ-CARMONA

Departamento Ecuaciones Funcionales. Universidad de Granada, Granada, Spain

Communicated by E. W. Chenev

Received October 11, 1980

Following the ideas of several papers by G. Mühlbach, a general recurrence interpolation formula is obtained that contains as particular cases some extended Newton and Aitken-Neville interpolation formulas. The exposition of the problem allows us to show the applications of this formula to multivariate interpolation. This is the principal aim of this work. Some simple examples are given to show the variety of applications.

1. Introduction

In several papers, Mühlbach ([6-10]) has obtained an interesting generalized Newton formula for the solution of the interpolation problem at given points by functions which form a Chebyshev system, and finally in [11], the same formula is obtained for the general finite linear interpolation problem.

Also in [8] he has extended the Neville-Aitken recurrence formula for the construction of interpolating functions from others which solve easier interpolation problems.

When the present paper was completed the authors learned of two papers that prove Mühlbach's results in two different ways. Håvie [5] uses extrapolation schemes and Brezinski [2] uses a Sylvester's identity on determinants.

But, in the Mühlbach-Neville-Aitken formula, the coefficients λ_i depend on the point x at which the interpolating function is computed. As it involves a product of functions, it was inconvenient to extend the formula to the finite linear interpolation problem.

In this paper we avoid such difficulties by deriving a general formula for the value of a linear form L(p), where p is the solution of the interpolation

problem. In some particular cases, such as Newton's formula, one can use the formula to obtain directly the solution p of the problem.

In Section 2, we introduce notations and pose the problem. In Sections 3 and 4, we obtain the general formula, study special cases and give some examples. In Section 5, we construct the divided differences by recurrence, applying the results of [11]. Finally, some examples of applications to multivariate interpolation are given. In the cases we have treated this method for the construction of the solution is much slower than the method in [4] if the latter can be applied. But we can use both methods together to enlarge the field of application of [4], as shown in Section 6.

2. Definitions and Notation

Let V be a vector space of dimension $n \in N$ over a commutative field of characteristic zero K.

Let $\{f_1, f_2, ..., f_n\}$ be a subset of V and let

$$\mathcal{L}_n = \{L_1, L_2, ..., L_n\}$$

be a set of linear forms on V.

Obviously one has

$$\det(L_i f_j) \neq 0, \qquad 1 \leqslant i, j \leqslant n, \tag{1}$$

if and only if both sets are linearly independent. Let us assume (1) and let W be the vector space spanned by $\{f_1, f_2, ..., f_m\}, m < n$.

For any $z = (z_1, z_2, ..., z_n) \in K^n$ we shall denote by

$$p_n = p_n[z] \tag{2}$$

the unique element in V which verifies

$$L_i p_n = z_i, \qquad i = 1, 2, ..., n.$$
 (3)

Let $I_{m,i}$, i=1,2,...,s $(1 \le s \le n-m+1)$, be s subsets of $\{1,2,...,n\}$ such that

$$\mathrm{card}\; I_{m,i} = m, \qquad I_{m,i} \neq I_{m,j}, \quad \forall \; i \neq j.$$

Let us denote

$$\mathscr{L}_{m,i} = \{L_j \mid j \in I_{m,i}\}, \qquad i = 1, 2, ..., s, \tag{4}$$

and assume

$$\det(L_j f_k) \neq 0, \qquad 1 \leqslant k \leqslant m, \quad j \in I_{m,i}. \tag{5}$$

If

$$I_{m,i} = \{j_{i1}, j_{i2}, ..., j_{im}\}$$

we shall write

$$z_{m,i} = (z_{j_{i1}}, z_{j_{i2}}, ..., z_{j_{im}})$$

and

$$\mathcal{L}_{m,i}f = (L_{j_{i1}}f,...,L_{j_{im}}f).$$

Then, similarly to (2), we shall denote by

$$p_{m,i} = p_{m,i} \left[z_{m,i} \right] \tag{6}$$

the unique element of W which verifies

$$L_i p_{m,i} = z_i, \qquad \forall j \in I_{m,i}, \tag{7}$$

and analogously $p_{m,i}^{m+k}$, k=1, 2,..., n-m, such that

$$L_j p_{m,i}^{m+k} = L_j f_{m+k}, \qquad \forall j \in I_{m,i}.$$
 (8)

Finally we shall write

$$\alpha_n^k = \alpha_n^k [z], \qquad k = 1, 2, ..., n,$$
 (9)

for the coefficient of f_k in (2) and we shall call it the kth divided difference of z with respect to problem (3).

3. A GENERAL RECURRENCE INTERPOLATION FORMULA

THEOREM 1. For $s \ge 2$, for any linear form L on V such that

$$D(L) = \begin{vmatrix} 1 & 1 & \cdots & 1 \\ Lp_{m,1}^{m+1} & Lp_{m,2}^{m+1} & \cdots & Lp_{m,s}^{m+1} \\ Lp_{m,1}^{m+2} & Lp_{m,2}^{m+2} & \cdots & Lp_{m,s}^{m+2} \\ & & & \cdots \\ Lp_{m,1}^{m+s-1} & Lp_{m,2}^{m+s-1} & \cdots & Lp_{m,s}^{m+s-1} \end{vmatrix} \neq 0$$
 (10)

and for any $z \in K^n$, one has

$$Lp_{n} = \sum_{i=1}^{s} \lambda_{i} Lp_{m,i} + \sum_{i=1}^{s} \sum_{k=m+s}^{s} \lambda_{i} \alpha_{n}^{k} (Lf_{k} - Lp_{m,i}^{k}),$$
 (11)

where $(\lambda_1, \lambda_2, ..., \lambda_s)$ is the unique solution of the system

$$\sum_{i=1}^{s} \lambda_{i} = 1,$$

$$\sum_{i=1}^{s} \lambda_{i} L p_{m,i}^{j} = L f_{j}, \qquad j = m+1, ..., m+s-1.$$
(12)

For s = 1 we have

$$p_n = p_{m,1} + \sum_{k=m+1}^{n} \alpha_n^k (f_k - p_{m,1}^k).$$
 (13)

Proof. Let $s \ge 2$. Both members of (11) can be considered as linear forms on K^n applied to z, $L^{(1)}$, $L^{(2)}$:

$$L^{(1)}z = 1$$
st member of (11),

$$L^{(2)}z = 2nd$$
 member of (11).

By (1) these linear forms are the same if they take the same value on each $z = \mathcal{L}_n f_j = (L_1 f_j, ..., L_n f_j), j = 1, 2, ..., n$, since these z are a basis of K^n .

Taking $z = \mathcal{L}_n f_j$, j = 1, 2,..., m, in (11) we obtain for the first member Lf_j and

$$\left(\sum_{i=1}^{s} \lambda_{i}\right) L f_{j}$$

for the second one, because for $z = \mathcal{L}_n f_j$, j = 1, 2,..., n,

$$\alpha_n^k = \delta_{jk}. \tag{14}$$

From the first equation in (12) it follows that members coincide.

Now, taking $z = \mathcal{L}_n f_j$, j = m + 1,..., m + s - 1 in (11) and applying the second equation (12) we get

$$Lf_i = Lf_i$$
.

Finally, taking $z = \mathcal{L}_n f_j$, j = m + s,..., n, one has that the first member is Lf_j and the second one is, by (14),

$$\sum_{i=1}^{s} \lambda_{i} L p_{m,i}^{j} + \sum_{i=1}^{s} \lambda_{i} (L f_{j} - L p_{m,i}^{j}) = L f_{j}.$$

For s=1 the same reasoning is true with any L, taking into account that condition (10) disappears and (12) reduces to $\lambda_1=1$. Hence we have (13). This formula has been recently obtained by Mühlbach [9] as a generalized Newton formula.

Let us remark that in general one cannot take L off (11) because λ_i are dependent on it.

A particular case is for s = n - m + 1. Under the hypothesis (10) the double sum in the second member of (11) disappears and one obtains the generalized Aitken-Neville formula (see [6])

$$Lp_n = \sum_{i=1}^{n-m+1} \lambda_i Lp_{m,i}. \tag{15}$$

We observe, finally, that the case m=1, s=n-m+1=n, $\mathcal{L}_{1,i}=\{L_i\}$, i=1,2,...,n, corresponds to the Lagrange interpolation formula. In this case condition (5) becomes

$$L_i f_1 \neq 0, \quad \forall i = 1, 2, ..., n$$

and (10) can be written

$$\begin{vmatrix} L_{1}f_{1} & L_{2}f_{1} & \cdots & L_{n}f_{1} \\ L_{1}f_{2} & L_{2}f_{2} & \cdots & L_{n}f_{2} \\ & & \cdots \\ L_{1}f_{n} & L_{2}f_{n} & \cdots & L_{n}f_{n} \end{vmatrix} Lf_{1} \neq 0, \tag{16}$$

which, by (1), is equivalent to

$$Lf_1 \neq 0$$
.

Then we have

$$Lp_n = \sum_{i=1}^n L_i f \cdot Ll_i$$

with

$$L_i l_i = \delta_{ii}$$
.

Let us remark that condition (10) can be substituted by other conditions easier to check in application. For example, one has the following result.

THEOREM 2. Let $\mathcal{L}_{m,i}$, i = 1, 2, ..., s, $s \ge 2$ be such that

$$\operatorname{card}(\mathscr{L}_{m,i} \cap \mathscr{L}_{m,i-1}) = m-1, \quad i = 2, 3, ..., s,$$
 (17)

$$\operatorname{card}\left(\bigcup_{i=1}^{s} \mathcal{L}_{m,i}\right) = m + s - 1,\tag{18}$$

$$\det(L_i f_j) \neq 0, \qquad j = 1, 2, ..., m + s - 1; L_i \in \bigcup_{i=1}^s \mathcal{L}_{m,i}.$$
 (19)

If one has, for i = 2, 3, ..., s,

$$\det(L_i f_i) \neq 0, \qquad j = 1, 2, ..., m; L_i \in \mathcal{L}_{m,i} \cap \mathcal{L}_{m,i-1} \cup \{L\}, \tag{20}$$

then condition (10) is verified.

Proof. By subtracting from each column in (10) the previous column developed by the first row we have

$$D(L) = \begin{pmatrix} Lp_{m,2}^{m+1} - Lp_{m,1}^{m+1} & \cdots & Lp_{m,s}^{m+1} - Lp_{m,s-1}^{m+1} \\ Lp_{m,2}^{m+2} - Lp_{m,1}^{m+2} & \cdots & Lp_{m,s}^{m+2} - Lp_{m,s-1}^{m+2} \\ & \cdots \\ Lp_{m,2}^{m+s-1} - Lp_{m,1}^{m+s-1} & \cdots & Lp_{m,s}^{m+s-1} - Lp_{m,s-1}^{m+s-1} \end{pmatrix}.$$

If D(L) = 0 one would have a null linear combination of the rows with coefficients $c_1, c_2, ..., c_{s-1}$ not all zero.

Calling

$$\varphi = \sum_{i=1}^{s-1} c_i f_{m+i}$$
 (21)

we should have, by linearity of the interpolation problem,

$$Lp_{m,j}[\varphi] - Lp_{m,j-1}[\varphi] = 0, \quad j = 2, 3,..., s,$$

and since obviously

$$L_i p_{m,i}[\varphi] = L_i p_{m,i-1}[\varphi], \quad \forall L_i \in \mathcal{L}_{m,i} \cap \mathcal{L}_{m,i-1},$$

one has, by (20),

$$p_{m,j-1}[\varphi] = p_{m,j}[\varphi], \quad j = 2, 3, ..., s.$$

Therefore

$$p_{m,j}[\varphi] = p_{m,k}[\varphi] = \sum_{i=1}^{m} \beta_i f_i, \quad \forall j,k \in \{1,2,...,s\},$$

and

$$L_{\beta} = L_{j} \left(\sum_{i=1}^{s-1} c_{i} f_{m+i} \right)$$

$$= L_{j} \left(\sum_{k=1}^{m} \beta_{k} f_{k} \right), \quad \forall L_{j} \in \bigcup_{i=1}^{s} \mathscr{L}_{m,i},$$

which is not possible by (19), except for $c_i = \beta_k = 0$, $\forall i, k$.

For the Aitken-Neville formula we remark that by choosing $\mathcal{L}_{m,i}$, i=1,2,...,n-m+1, such that (17), (18) are verified with s=n-m+1 (in this case (19) is the initial hypothesis (1)) and with

$$\mathcal{L}_{m,i} \cap \mathcal{L}_{m,i-1} = \mathcal{L}_{m,j} \cap \mathcal{L}_{m,j-1}, \quad \forall i, j,$$

we have the idea of the original Aitken's algorithm [1], while if we choose

$$\mathcal{L}_{m,i} = \{L_i, L_{i+1}, ..., L_{m+i-1}\}, \qquad i = 1, 2, ..., n-m+1,$$

with

$$\mathcal{L}_{n} = \{L_{1}, L_{2}, ..., L_{n}\}$$

we have that of Neville [12].

4. APPLICATIONS AND EXAMPLES

In most interpolation problems V is a space of K-valued functions of one or several variables and L and L_i are linear forms representing the value of f and/or some of its derivatives at some point. We shall take them to be so in all our examples. Particularly we shall always assume

$$Lf = f(X), \qquad X \in \mathbb{R}^t. \tag{22}$$

There are many examples for which the conditions of Theorem 2 can be easily checked, as we can see in the following example with two variables.

Let
$$m = 3$$
, $n = 6$, $s = 4$, $f_1 = 1$, $f_2 = x$, $f_3 = y$, $f_4 = x^2$, $f_5 = xy$, $f_6 = y^2$ and

$$L_i f = f(P_i), \qquad i = 1, 2, ..., 6.$$
 (23)

 P_i are distinct points on the plane such that P_4 , P_5 , P_6 are on a straight line r; P_2 , P_3 are on a different line r', whose intersection with r is not any point P_i ; and P_1 does not lie either on r or on r'. We know that the problem of finding $p \in \mathscr{S}_2 = \operatorname{span}\{1, x, y, x^2, xy, y^2\}$ such that

$$L_i p = L_i f, \qquad i = 1, 2, ..., 6,$$

with L_i defined by (23) has a unique solution, and hence (1) is verified (see, for example [4]).

By taking

$$\mathcal{L}_{3,1} = \{L_1, L_2, L_3\},\$$
 $\mathcal{L}_{3,2} = \{L_2, L_3, L_4\},\$
 $\mathcal{L}_{3,3} = \{L_2, L_3, L_5\},\$
 $\mathcal{L}_{2,4} = \{L_2, L_3, L_6\}.$

it is obvious that (17), (18) and (19) are true. Also if the point X does not lie on r', then (20) is true, because

$$\det \left[\frac{1, x, y}{P_2, P_3, X} \right] \neq 0.$$

By formula (11) we can write the interpolation polynomial of degree two of a given function at $P_1, P_2, ..., P_6$ by means of the four polynomials of degree one which interpolate at four different sets, each with three points.

In general, if we have k points on a straight line r_k , k-1 points on another line r_{k-1} (no points on r_k), k-2 points on r_{k-2} (no points on r_k , r_{k-1}) and so on, then the corresponding problem is unisolvent in \mathcal{P}_{k-1} . If we take the points of the straight lines $r_2, ..., r_{k-1}$ and that of r_1 we shall have a univolvent problem in \mathcal{P}_{k-2} , and analogously it will occur with the points of $r_2, r_3, ..., r_{k-1}$ and each one of r_k . Then we can apply Theorem 2 to obtain the solution of the problem in \mathcal{P}_{k-1} from the k+1 problems in \mathcal{P}_{k-2} and so on. In this way we obtain an Aitken-Neville algorithm for this problem which is of Aitken's type.

In principle we have to exclude in formula (11) the points X on $r_2, r_3, ..., r_{k-1}$, although this is not an inconvenience by continuity.

Let us see now a simple example where Theorem 2 is not applicable, but Theorem 1 is: m = 4, n = 6, s = 2, $f_1 = 1$, $f_2 = x$, $f_3 = y$, $f_4 = xy$, $f_5 = x^2$, $f_6 = x^2y$, with

$$\mathcal{L}_{4,1}f = (f(0,0), f(0,1), f(1,0), f(1,1)), \tag{24}$$

$$\mathcal{L}_{4,2}f = (f(1,0), f(1,1), f(2,0), f(2,1)). \tag{25}$$

Now the condition $D(X) \neq 0$ is $x \neq 1$ and λ_1, λ_2 are

$$\lambda_1 = \frac{3x - 2 - x^2}{2(x - 1)}, \qquad \lambda_2 = \frac{x^2 - x}{2(x - 1)}.$$

Formula (11) allows us to see the relation between the polynomial in \mathscr{P}_2 which interpolates a given function f at the six points (0,0), (0,1), (1,0), (1,1), (2,0), (2,1) and the polynomials of degree no greater than 1 in x, y which interpolate f at the involved points in (24) and (25), respectively.

5. COMPUTING THE DIVIDED DIFFERENCES

The divided differences α_n^k , k=m+s,...,n in (11) can be computed by solving a linear system. If we use Theorem 1 then we shall have an $(n-m)\times(n-m)$ system to obtain $\alpha_n^{m+1},\alpha_n^{m+2},...,\alpha_n^n$, whereas if we use

Theorem 2 the $(n-m-s+1) \times (n-m-s+1)$ system only has the unknowns α_n^{m+s} , α_n^{m+s+1} ,..., α_n^n , which are just those that interest us.

In the first case, by taking any $\mathcal{L}_{m,i}$ and applying Theorem 1 with s=1, we have

$$p_n = p_{m,i} + \sum_{k=m+1}^{n} \alpha_n^k (f_k - p_{m,i}^k)$$
 (26)

and as a particular case of [9, Theorem 1] we get α_n^k , k = m + 1, m + 2,..., n by solving the linear system

$$\sum_{k=m+1}^{n} \alpha_n^k (L_j f_k - L_j p_{m,i}^k) = z_j - L_j p_{m,i}, \qquad \forall L_j \in \mathcal{L}_n - \mathcal{L}_{m,i}. \tag{27}$$

If we are under the hypothesis of Theorem 2, we have the Newton formula

$$p_n = p\left[\bigcup_{i=1}^s z_{m,i}\right] + \sum_{k=m+s}^n \alpha_n^k \left(f_k - p\left[\bigcup_{i=1}^s \mathscr{L}_{m,i} f_k\right]\right), \tag{28}$$

where $p[\bigcup_{i=1}^{s} z_{m,i}]$ is the unique element in span $\{f_1,...,f_{m+s-1}\}$ that verifies

$$L_{j}p\left[\bigcup_{i=1}^{s}z_{m,i}\right]=z_{j}, \quad \forall L_{j}\in\bigcup_{i=1}^{s}\mathscr{L}_{m,i},$$

and analogously

$$p\left[\bigcup_{i=1}^{s}\mathscr{L}_{m,i}f_{k}\right].$$

From (28) we get α_n^{m+s} , α_n^{m+s+1} ,..., α_n^n as the unique solution of

$$\sum_{k=m+s}^{n} \alpha_{n}^{k} \left(L_{j} f_{k} - L_{j} p \left[\bigcup_{i=1}^{s} \mathcal{L}_{m,i} f_{k} \right] \right)$$

$$= z_{j} - L_{j} p \left[\bigcup_{i=1}^{s} \mathcal{L}_{m,i} \right], \quad \forall L_{j} \in \mathcal{L}_{n} - \bigcup_{i=1}^{s} \mathcal{L}_{m,i}.$$
(29)

EXAMPLES. For the general case, let m = 3, n = 6, s = 2, $f_1 = 1$, $f_2 = x$, $f_3 = y$, $f_4 = x^2$, $f_5 = xy$, $f_6 = y^2$, $L_1 f = f(0, 0)$,

$$L_2 f = \frac{\partial f(x, y)}{\partial x} \Big|_{(0, 0)}, \qquad L_3 f = \frac{\partial f(x, y)}{\partial y} \Big|_{(0, 0)},$$

 $L_4f = f(0,1), L_5f = f(1,0), L_6f = f(1,1), \mathcal{L}_{3,1} = \{L_1, L_2, L_3\}, \mathcal{L}_{3,2} = \{L_1, L_4, L_5\}.$

Then, one can easily obtain by direct computation

$$p_{3,1}[f] = f(0,0) + x \frac{\partial f(0,0)}{\partial x} + y \frac{\partial f(0,0)}{\partial y},$$

$$p_{3,2}[f] = f(0,0) + x(f(1,0) - f(0,0)) + y(f(0,1) - f(0,0))$$

and for X = (x, y), by (12)

$$\lambda_1 = 1 - x, \qquad \lambda_2 = x.$$

Fomula (11) is now

$$p_6[f] = (1-x) p_{3,1}[f] + x p_{3,2}[f] + \alpha_6^5 x y + \alpha_6^6 (y^2 - x y).$$

Here one cannot apply L_5 and L_6 to both members to compute α_6^5 and α_6^6 because

$$\begin{vmatrix} L_5(xy) & L_5(y^2 - xy) \\ L_6(xy) & L_6(y^2 - xy) \end{vmatrix} = 0.$$

However, we can use (27) with $\mathcal{L}_{3,i} = \mathcal{L}_{3,1}$ or $\mathcal{L}_{3,2}$ to obtain α_6^4 , α_6^5 , α_6^6 . As an example of the application of (29), let m = 1, n = 3, s = 2, $f_1 = 1$, $f_2 = x$, $f_3 = y$, $L_1 f = f(0, 0)$, $L_2 f = f(1, 0)$, $L_3 f = f(0, 1)$. Now formula (11) is

$$p_3[f] = (1-x)f(0,0) + xf(1,0) + \alpha_{3,3}y$$

and (29) is

$$\alpha_{3,3} = f(0,1) - f(0,0).$$

Often the divided differences can be constructed in another simple way. As a particular case of [9, Theorem 2] we have the following result.

With the notations of Section 1 let us assume that there are $\mathcal{L}_{m,1}$, $\mathcal{L}_{m,2},...,\mathcal{L}_{m,n-m+1}$ such that

- (a) card $\mathcal{L}_{m,i} = m, 1 \leq i \leq n m + 1,$
- (b) $\det(L_i f_k) \neq 0, \ 1 \leq k \leq m, \ L_i \in \mathcal{L}_{m,i}, \ i = 1, 2, ..., n m + 1,$
- (c) $m > \operatorname{card}(\mathcal{L}_{m,i} \cap \mathcal{L}_{m,i+1}) \geqslant r \geqslant 0, i = 1, 2, ..., n m,$
- (d) $\binom{n-m+1}{i-1} \mathcal{L}_{m,i} = \mathcal{L}_n$.

Then the divided differences α_n^k , $m+1 \le k \le n$ can be determined as the unique solution of the following system with m(n-m) equations and n-munknowns,

$$\sum_{k=m+1}^{n} \alpha_{n}^{k} (\alpha_{m,i+1}^{j} [f_{k}] - \alpha_{m,i[fk]}^{j})$$

$$= \alpha_{m,i+1}^{j} [z] - \alpha_{m,i}^{j} [z], \qquad i = 1, 2, ..., n - m; j = 1, 2, ..., m, \quad (30)$$

where $\alpha_{m,i}^{j}[f_k]$ is the foefficient of f_j in the unique solution of the problem

$$p \in \operatorname{span}\{f_1, f_2, ..., f_m\}, \qquad L_h(p) = L_h(f_k), \qquad \forall L_h \in \mathcal{L}_{m,i},$$

and analogously $\alpha_{m,i}^{j}[z]$ for

$$p \in \operatorname{span}\{f_1,...,f_m\}, \qquad L_h(p) = z_h, \qquad h \in I_{m,i}.$$

If in addition, for each i = 1, 2, ..., n - m, there is $\mathcal{L}_{r,i}$ such that

$$\mathcal{L}_{r,i} \subset \mathcal{L}_{m,i} \cap \mathcal{L}_{m,i+1},\tag{31}$$

$$\operatorname{card} \mathscr{L}_{r,i} = r, \tag{32}$$

$$\det(L_h f_t) \neq 0, \qquad 1 \leqslant t \leqslant r, \qquad L_h \in \mathcal{L}_{r,i}, \tag{33}$$

then system (30) can be reduced to a subsystem with the same formulation but with i = 1, 2, ..., n - m; j = r + 1, ..., m.

Clearly the simplest particular case is for r = m - 1. Then

$$\mathcal{L}_{r,i} = \mathcal{L}_{m,i} \cap \mathcal{L}_{m,i+1}, \quad \forall i,$$

and we have a $(n-m) \times (n-m)$ system in (30).

Let us observe now the case m = n - 1 in (29) and (30). In (29), if s = 1 and $\mathcal{L}_{n-1,1} = \{L_1, L_2, ..., L_{n-1}\}$, we have $\mathcal{L}_n - \mathcal{L}_{n-1,1} = \{L_n\}$ and

$$\alpha_n^n = \alpha_n^n[z] = \frac{z_n - L_n p_{n-1}[z]}{L_n f_n - L_n p_{n-1}[f_n]},$$
(34)

where $p_{n-1}[z]$ and $p_{n-1}[f_n]$ are in span $\{f_1,...,f_{n-1}\}$ and verify, for $1 \le i \le n-1$,

$$L_{j} p_{n-1} [f_{n}] = L_{j} f_{n},$$

$$L_{j} p_{n-1} [z] = z_{j}.$$

In (30), we have

$$\alpha_n^n = \alpha_n^n[z] = \frac{\alpha_{n-1,2}^{n-1}[z] - \alpha_{n-1,1}^{n-1}[z]}{\alpha_{n-1,2}^{n-1}[f_n] - \alpha_{n-1,1}^{n-1}[f_n]}.$$
 (35)

Equations (34) and (35) are respectively generalizations of the well-known formulas

$$f[x_0, x_1, ..., x_n] = \frac{f(x_n) - p_{n-1}(x_n)}{\prod_{i=0}^n (x_n - x_i)},$$

$$f[x_0, x_1, ..., x_n] = \frac{f[x_0, x_1, ..., x_{n-1}] - f[x_1, ..., x_n]}{x_0 - x_n}$$

for usual divided differences.

6. APPLICATIONS: INTERPOLATION IN SIX POINTS OF R^2 BY POLYNOMIALS OF DEGREE TWO

The above methods are less practical for interpolation in \mathbb{R}^2 than that of [4] when this method can be used. However, sometimes one cannot use the method of [4] alone, but in collaboration with those of this paper, as the following example shows us.

Let us consider the interpolation problem

$$p(P_i) = f(P_i), \qquad i = 1, 2, \dots, 6, p \in \mathcal{P}_i,$$
 (36)

where P_i are any different points in R^2 .

Clearly, the determinant of the coefficients of (36) is zero, if all the points p_i are on two straight lines r_0 , r_1 . Hence we only consider the following two cases:

If three points are on r_0 , two points in r_1 and the other one is neither on r_0 nor on r_1 , then the method of [4] can be advantageously used.

If there are not three points P_i on a straingt line, then P_1 and P_2 determine a straight line r_0 , P_3 and P_4 determine another one r_1 and P_5 and P_6 , r_2 . As it is shown in [4] it is impossible to get \mathscr{T}_2 as the interpolation space if we use that method to solve the problem. However, the method can be used to construct the unique solutions of the two problems

$$p(P_i) = f(P_i), \qquad i = 1, 2, 3, 4, 5, \quad p \in \mathcal{P},$$
 (37)

and

$$p(P_i) = f(P_i), i = 1, 2, 3, 4, 6, p \in \mathcal{P},$$
 (38)

in a space $\mathscr P$ of dimension 5 such that $\mathscr P_1 \subset \mathscr P \subset \mathscr P_2$. A basis $\{f_1, f_2, f_3, f_4, f_5\}$ of $\mathscr P$ can be constructed easily as in [4]. With the above notations the solutions of (37) and (38) would be written as $p_{5,1}[f]$, $p_{5,2}[f]$ with $\mathscr L_{5,1} = \{L_1, L_2, L_3, L_4, L_5\}$ and analogously $\mathscr L_{5,2}$ and

$$L_i(f) = f(P_i), \qquad i = 1, 2, ..., 6.$$

Also we denote

$$\mathscr{L}_6 = \mathscr{L}_{5,1} \cup \mathscr{L}_{5,2}.$$

At first we do not know if

$$\det(L_i f_i) \neq 0, \qquad 1 \leqslant i, j \leqslant 6,$$

and so we are going to check it.

We also can easily construct $p_{5,1}[f_6]$ and $p_{5,2}[f_6]$, and then the polynomial $p_{5,1}[f_6] - p_{5,2}[f_6]$ belongs to the space $\mathscr P$ and vanishes at P_1 , P_2 , P_3 , P_4 . If it also vanishes at P_5 or P_6 , then we shall have

$$p_{5,1}[f_6] \equiv p_{5,2}[f_6] \tag{39}$$

and hence, there exist β_i not all zero such that

$$\sum_{i=1}^{5} \beta_i f_i(P_j) - f_6(P_j) = 0, \qquad j = 1, 2, ..., 6,$$

and therefore

$$\det(L_i f_i) = 0, \qquad 1 \leqslant i, j \leqslant 6. \tag{40}$$

Thus (36) would have no solution in general.

Clearly (40) implies (39) and hence if (39) is not verified, then (36) has a unique solution. In this case, by Theorem 1, for any (x, y) such that

$$p_{5,1}[f_6](x,y) \neq p_{5,2}[f_6](x,y) \tag{41}$$

we have

$$p_{6}[f](x, y) = \lambda_{1}(x, y) p_{5,1}[f](x, y) + \lambda_{2}(x, y) p_{5,2}[f](x, y),$$
(42)

where

$$\lambda_1(x, y) = \frac{p_{5,2}[f_6](x, y) - f_6(x, y)}{p_{5,2}[f_6](x, y) - p_{5,1}[f_6](x, y)},$$
(43)

$$\lambda_2(x, y) = \frac{f_6(x, y) - p_{5,1} [f_6](x, y)}{p_{5,2} [f_6](x, y) - p_{5,1} [f_6](x, y)}.$$
 (44)

Also it follows from [4] that if (41) is not verified for $(x, y) \notin r_0 \cup r_1$ then we have (39) and hence (40). Therefore, if (39) is not verified we have (41) for all $(x, y) \notin r_0 \cup r_1$ and we can apply (42).

Thus, problem (36) consists of two very simple parts. At first we have to see the position of the points and how many of them are aligned. In all cases one can say inmediately if the problem has a unique solution and construct it very easily when the answer is positive.

REFERENCES

1. A. G. AITKEN. On the interpolation by iteration of proportional parts without the use of differences. *Proc. Edimburgh Math. Soc.* 3 (1932), 56-76.

- C. Brezinski, The Mühlbach-Neville-Aitken algorithm and some extensions, Publication A.N.O. 19. Université de Lille I, 1980.
- 3. H. ENGELS, Eine Verallgemeinerung von Newton Interpolation und Neville-Aitken Algorithmus und deren Anwendung auf die Richardson Extrapolation, *Computing* 10 (1972), 375-389.
- 4. M. GASCA AND J. I. MAEZTU, On Lagrange and Hermite interpolation in R^{λ} , Numer. Math., in press.
- 5. T. HÅVIE, Remarks on the Mühlbach-Neville-Aitken algorithm, Department of Mathematics, University of Trodheim, Norway, preprint.
- 6. G. MÜHLBACH, A recurrence formula for generalized divided differences and some applications, J. Approx. Theory 9 (1973), 165-172.
- G. MÜHLBACH, Newton und Hermite-Interpolation mit Cebysev-Systemen, Z. Angew. Math. Mech. 54 (1974), 541-550.
- 8. G. MÜHLBACH, The general Neville-Aitken algorithm and some applications. *Numer. Math.* 31 (1978), 97-110.
- G. MÜHLBACH, The general recurrence relation for divided differences and the general Newton-interpolation algorithm with applications to trigonometric interpolation, *Numer. Math.* 32 (1979), 393-408.
- 10. G. MÜHLBACH, An algorithmic approach to Hermite-Birkhoff interpolation, preprint.
- 11. G. MÜHLBACH, An algorithmic approach to finite linear interpolation, in 'Approximation Theory III" (E. W. Cheney, Ed.), p. 655-660, Academic Press, New York, 1980.
- 12. E. H. NEVILLE, Iterative interpolation. J. Indian Math. Soc. 20 (1934), 87-120.